
Divergenz und Rotation 
 

Divergenz: 𝑑𝑖𝑣(𝑣⃗) = ∇  ∙ 𝑣⃗ =  𝜕𝑥𝑣𝑥 + 𝜕𝑦𝑣𝑦 + 𝜕𝑧𝑣𝑧  (Skalarprodukt) 

Rotation:  𝑟𝑜𝑡(𝑣⃗) =  ∇ × 𝑣⃗ = (

𝜕𝑦𝑣𝑧 − 𝜕𝑧𝑣𝑦

𝜕𝑧𝑣𝑥 − 𝜕𝑥𝑣𝑧

𝜕𝑥𝑣𝑦 − 𝜕𝑦𝑣𝑥

)  (Kreuzprodukt)  

 

 

 

Kurvenintegrale 2. Art 
𝑣⃗: ℝ → ℝ𝑛, Kurve 𝛾: [𝑎, 𝑏] → 𝐷 , 𝛾′(𝑡) ≠ 0 

∫ 𝑣⃗ 𝑑𝑠 =  ∫ 𝑣⃗(𝛾(𝑡)) ∙  𝛾′(𝑡) 𝑑𝑡

𝑏

𝑎

 

𝛾

 

Tipp 5a) 

- sinh(𝑡)′ = cosh(𝑡)   𝑢𝑛𝑑     cosh(𝑡)′ = sinh(𝑡) 

- cosh2(𝑡) − sinh2(𝑡) = 1 

- ∫ sinh(𝑡) cosh(𝑡)  𝑑𝑡 =
1

2
sinh2(𝑡) 

 

Tipp 5b) 

- ∫ 𝑣⃗ 𝑑𝑠 = 
 

𝛾 ∫ 𝑣⃗ 𝑑𝑠 + 
 

𝛾1
∫ 𝑣⃗ 𝑑𝑠 = ? 

 

𝛾2
 

 

 

sinh(𝑥) =
1

2
(𝑒𝑥 − 𝑒−𝑥) 
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